
The massless limit.

Imagine taking m to zero while fixing the mometum of a particle.

This piece needs to go to infinity.
So, the speed u goes to c.

What about the energy? Hard to tell.  Instead, try E/p

Massless particles always have E=pc.  Another way to see it:

->  clicker question

-> clicker question
Compare with properties of light from Tutorial 6

->  clicker question
->  clicker question

Nuclear fission:

Bound systems:
If energy is released when forming a bound system, the system is stable (it takes energy to make it fall apart)

Nuclear fusion:

-> clicker question

More realistically:
This is how fusion
works in experiments
(eg ITER)


